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and net annual premium (NAp) for 5 years

Problem 5

Calculate the

endowment
ne

lic
single premium (NSP)
of Tk 5000 froni the fo,

t

Solution:

Calcul4te the NSP and NAP for the 5 endowmen li

Number of living person at the end of 5th year = ( I g529 -1164)

= 17365 persons

Total claim of living person : (17365 x 5000)

: 86825000

Total PV of living claim = (86825000 x .784)

. = Tk.68070800
i

We know,

rcy of 'l'k 5000 froni the fol information:

Age No. of insured persons No. of death Present Value

of Tk I .00 @5%

35 30550 4196 0.952

36 26354 3285 0.907

37 23069 2562 0.864

38 20507 1978 0.823

39 I 8529 lt64 0.t84

rs

year age Number of
insured person

Number of
Death

Amount of
claim

PV of TIR

t@ s%
Present Value of
Death Claim/ PV

35 305s0 4t96 5000 .952 19972960

2 36 263s4 3285 5000 .907 14897475

3 37 23069 2562 5000 .864 I 1067840

4 38 20507 t978 5000 .823 8t39470

5 39 t8529 n64 5000 .784 4562880

Total Present value of death claim 5864062s


